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1. Let R be the region bounded by the paraboloid z =
2 = /z? + y2. Use cylindrical coordinates to evaluate the triple integral
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2. Let R be the region bounded by the ry-plane, the cone z = /3z% + 3y* and the
sphere 22 + y? + 22 = 16. Use spherical coordinates to evaluate the triple integral
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3. Let C be the line segment from the poit ,'(l,:‘,l‘l) o e it (- 11,7 ) Lol

uate the line integral [ (ry + yz) s
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4. Let C be the curve with parametrization
; 415 mt, . 7wt
T(t) =( 1+ (t—1)e"",2t + cos(?),sm(f) , 0<t<1.

Evaluate the line integral / F e di where
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Let C; be the part of the parabola y = 22 -3z from the point (0,0) to the point (4,4)

and C, be the line segment from the point (4, 4) to the point (0,0. KC=CiUC
and

F(z,y) = (e =2y +cos(z®). sin(y™"*) +2* ~ In(y* + )

evaluate ¢ F e dF
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